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+2 fzf;Fg;gjptpay; Kjy; ,ilg;gUtj;Njh;T –Mf 24 
rhpahd tpil                      10 X 1 = 10 
1.(M)nrhj;Jf;fs; kw;Wk; nghWg;Gfs; mwpf;if 
2. (,) Kjy;   
3. (<) & 110000 
4. (M) nkhj;j fldPe;Njhh; fzf;F 
5. (M) nrhj;J fzf;F 
6. (,) cghp my;yJ gw;whf;Fiw  
7. (m) xU nrhj;J 
8. (m) rkkhd tpfpjj;jpy;  
9. (,) Mz;Lf;F 6%   
10. (,) fld; kPJ tl;b 
VNjDk; 5 tpdhf;fSf;F tpilasp  5X2=10 
11. KOik ngwh gjpNtLfs;: ,ul;ilg;gjpT 
Kiwapd; gb guhkhpf;fg;glhj gjpNtLfs; 
KOikngwh gjpNtLfs; vdg;gLk;.  ,jpy; 
nuhf;f fzf;F kw;Wk; Ms;rhh; fzf;Ffs; 
gjpag;gLk;. 
12. capy; nfhil: xUthpd; capy; %ykhf 
,yhg Nehf;fkw;w rq;fq;fSf;F mspf;fg;gLk; 
ghpR capy; nfhil MFk;.  ,J xU Kjypd 
tuthFk;. 
13. $l;lhz;ik tiutpyf;fzk; jUf. 
,e;jpa $l;lhz;ik rl;lk;> 1932 gphpT 4d;gb 
$l;lhz;ik vd;gJ “vy;NyhUk; Nrh;e;Njh 
my;yJ vy;NyhUf;Fkhf xUtNuh elj;Jk; 
njhopypd; ,yhgj;ijg; gfph;e;J nfhs;s xg;Gf; 
nfhz;lth;fspilNa epyTk; cwT” MFk;. 
14. ,Wjp Kjy; (31.03.2017) 3>50>000 
$l;Lf:- vLg;Gfs; 40>000 
 3>90>000 
fopf;f:- $Ljy; Kjy; 70>000 
rhpf;fl;lg;gl;l ,.Kjy; 3>20>000 
fopf;f:- njhlf;f Kjy; 2>00>000 
,yhgk; 1>20>000 
15.  ngWjw;Fhpa khw;Wr;rPl;L 
tptuk; njhif tptuk; njhif 
,Ug;GfP/nfh 20000 nuhf;f f/F 60000 
fldhspfs;f/F 75000 fldhspfs;;f/F 5000 
  ,Ug;GfP/, 30000 
 95000  95000 
 
16. rPh;fhop ghlfh;fs; tUtha; nrytpdf;fzf;F 
nryTfs; njh njh tU n n 
vOJnghUs; njh., 2600     
$l;:- elg;ghz;by; thq;fp 6500     
 9100     
fop:- vOJ.ngh.,Wjp , 2200     
  6900    
 17. Ngfj;jpd; Kjy; kPJ tl;b 
njhlf;f Kjy;    = 50000 x 4/100     = 2000 

$Ljy; Kjy; (3 khjk;)  = 10000 x 4/100X3/12      =  100 

                      2100 

ghj;jpkhtpd; Kjy; kPJ tl;b 
njhlf;f Kjy;    = 40000 x 4/100   = 1600 

$Ljy; Kjy; (8 khjk;)  = 9000 x 4/100 x8/12        =  240    

                      1840 

VNjDk; 5 tpdhf;fSf;F tpilasp :  5X3=15 

18. ,yhg el;l mwpf;if 
,Wjp Kjy; 145000 
$l;Lf:- vLg;Gfs; 30000 
 175000 
fopf;f:- $Ljy; Kjy; 15000 
rhpf;fl;lg;gl;l ,.Kjy; 160000 
fopf;f:- njhlf;f Kjy; 100000 
,yhgk; 60000 
19. nkhj;jf; fldhspfs; fzf;F 
tptuk; njhif tptuk; njhif 
,Ug;GfP/nfh 50000 nuhf;f f/F 150000 
tpw;gid f/F 190000 cs;jpUg;gf;f/F 15000 
  thuhf;fld;f/F 5000 
  ,Ug;GfP/, 70000 
 240000  240000 
nkhj;j tpw;gid =nuhf;f tpw;gid+fld; tpw;gid 
   140000 + 190000 = 330000 
20. fhiuf;Fb tpisahl;L  ,Ug;Gepiyf;Fwpg;G 
nghWg;Gfs; njh njh nrhj;J njh 
tp Nghl;b epjp njh 90000  njhlh; 90000 
$l;:- KjyPL kP tl; 9000  tp.Ngh.  
 99000  KjyPL  
$l;:- tp.Ngh. ed;nfh 10000    
 109000    
fop:- tp.Ngh.nryT 60000    
  49000   
21. ftpjhtpd; vLg;G kPJ tl;b  
1) xt;nthU khjj; njhlf;fj;jpy; vLj;jpUe;jhy; 
2500 X 12 =30000 x 4/100 x6.5/12     =  650 

2) xt;nthU ,ilapy; njhlf;fj;jpy; vLj;jpUe;jhy; 
2500 X 12 = 30000 x 4/100 x6/12     =  600 

3) xt;nthU khj ,Wjpapy; vLj;jpUe;jhy; 
2500 X 12= 30000 x 4/100 x5.5/12     =  550 

22. 
mbg;gi
l 

,ul;ilg;gjpT Kiw KOik ngwh 
gjpNtLfs;  

eltbf;iff
is gjpT 
nra;jy; 

gw;W kw;Wk; tuT 
,U jd;ikfSk; 
gjpag;gLk;. 

rpy eltbf;iffs; 
,U jd;ikfSk; 
gjpag;gLk;.  rpy 
eltbf;iffs; gw;W 
my;yJ tuT kl;Lk; 
gjpag;gLk;. 

fzf;Ffs; Ms;rhh;> nrhj;J 
kw;Wk; ngausT 
fzf;Ffs; 
guhkhpf;fg;gLfpwJ. 

Ms;rhh; kw;Wk; 
nuhf;f fzf;Ffs; 
kl;Lk; 
guhkhpf;fg;gLfpwJ. 

,Ug;gha;T jahhpf;f KbAk; jahhpf;f KbahJ. 
,yhg – 
el;lk; 

rhpahd ,yhg el;lk; 
jahhpf;f KbAk; 

Jy;ypakhf jahhpf;f 
KbahJ. 

epjp epiy cz;ikahd 
epjpepiy fz;lwpa 
KbAk;. 

cz;ikahd 
epjpepiy fz;lwpa 
KbahJ. 

nghUe;Jk; midj;J 
epWtdq;fSf;Fk; 
nghUe;Jk; 

rpW epWtdq;fSf;F 
kl;Lk; nghUe;Jk;. 

ek;gfj; 
jd;ik 

mwptpay; g+h;tkhd 
fzf;fpay; Kiw 

mwptpay; jd;ikaw;w 
Kiw 

Vw;Gila 
jd;ik 

tUkhdthp 
mjpfhhpfSf;F 
Vw;GilaJ 

Vw;GilaJ ,y;iy. 
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23. 
mbg;gil 

ngWjy;fs; 
kw;Wk; 
nrYj;jy;fs; 
fzf;F 

tUtha; nrytpdf; 
fzf;F 

Nehf;fk; nuhf;fk; 
ngWjy;fs; 
nrYj;jy;fis 
mwpa 

cghp my;yJ 
gw;whf;Fiwia 
mwpa 

fzf;fpd; 
jd;ik 

nrhj;Jf; fzf;F ngausT fzf;F 

fzf;fpd; 
mbg;gil 

nuhf;fj;jpd; 
mbg;gilapy;  

epfo;tpd; 
mbg;gilapy; 

njhlf;fk; 
kw;Wk; ,Wjp 
,Ug;G 

nuhf;fk; kw;Wk; 
tq;fp njhlf;f 
,Ug;Gld; 
njhlq;fpf ,Wjp 
,Ug;Gld; KbAk;. 

cghp my;yJ 
gw;whf;FiwAld; 
KbtilAk;. 

eltbf;ifapd; 
jd;ikfs; 

tUthapd; 
Kjypd 
NtWghLfs; 
,y;iy. 

tUthapd 
eltbf;iffs; 
kl;Lk; tUk;. 

fhyk; fle;j> elg;G 
kw;Wk; vjph;tUk; 
Mz;L ngWjy; 
nrYj;jy;fs; 
gjpag;gLk;. 

elg;G Mz;Lf;Fwpa 
eltbf;iffs; 
kl;Lk; gjpag;gLk;. 

 
24. $l;lhz;ik xg;ghtzj;jpd; 
cs;slf;fq;fs; VNjDk; Mwpid $wTk;. 
epWtdj;jpd; ngah;> jd;ik kw;Wk; njhopy; 
nra;Ak; ,lk;. 
njhopy; njhlq;fpa ehs; kw;Wk; fhy msT 
$l;lhspfspd; ngah; kw;Wk; Kfthp 
,yhgg; gfph;T 
$l;lhspfs; mspj;j Kjy; 
Kjy; kPjhd tl;b 
 
midj;J Nfs;tpfSf;Fk; tpilasp: 3X5=15 
25 m) (njhlf;f Kjy; fzf;fpLjy;) 
nghWg;Gfs; njhif nrhj;Jf;fs; njhif 
fldPe;Njhh; 130000 nuhf;fk; 80000 
tq;fp fld; 60000 ruf;fpUg;G 180000 
nr.kh.rP 80000 fldhspfs; 90000 
Kjy; 250000 ngh.,ae;jpuk; 170000 
 520000  520000 

,Wjp Kjy; fzf;fpLjy; 
nghWg;Gfs; njhif nrhj;Jf;fs; njhif 
fldPe;Njhh; 195000 nuhf;fk; 90000 
tq;fp fld; 60000 ruf;fpUg;G 140000 
nr.kh.rP 45000 fldhspfs; 200000 
Kjy; 300000 ngh.,ae;jpuk; 170000 
 600000  600000 

,yhg el;l mwpf;if 
,Wjp Kjy;  300000 
$l;Lf:- vLg;Gfs; (2500 X 12) 30>000 
 330000 
fopf;f:- $Ljy; Kjy; 50000 
rhpf;fl;lg;gl;l ,.Kjy; 280000 
fopf;f:- njhlf;f Kjy; 250000 
,yhgk; 30000 
 

25M) gj;kpdp gj;kh vd;Dk; $l;lhspfspd; Kjy; f/F 
ehs; tptuk; gj;kpdp gj;kh ehs; tptuk; gj;kpdp gj;kh 
 vLg;G 70000 40000 1.1.18 ,fP/nf 500000 400000 
 vL.tl; 2000 1000  yhgk; 52000 40000 
b18 ,fP/, 555000 444000  KkPtl; 30000 24000 
     rk;gsk; 45000  
     fopT  12000 
  627000 485000   627000 485000 
    1.1.19 ,fP/nfh 555000 444000 

 
26m) FwpQ;rp tpisahl;L ngWjy; nrYj;jy; fzf;F 

ngWjy;fs; njhif nrYj;jy;fs; njhif 
,Ug;G fP/nfh  rk;gsk; 3000 
if nuhf;fk; 4000 mr;Rf; fl;lzk; 2500 
M.c.fl;lzk; 10000 njh.tp.Ngh.nryT 10500 
re;jh ngw;wJ 15000 KjyPL thq;fpa 25000 
gh.ng.thlif 1000 ,Ug;GfP/nfh  
njh.tp.Ngh.tuT 14000 if nuhf;fk; 5000 
thlif ngw;wJ 2000   
 46000  46000 
 
26.M) Fk;gNfhzk; $ilg;ge;J tUtha; nrytpdf; fzf;F 

nryTfs; njhif tUkhdk; njhif 
ikjhd thlif 12000 muq;f th.ng 6000 
mr;Rf; fl;lzk; 5000 re;jh ngw;wJ 9000 
tq;fp fl;lzk; 1000 gh.ng. th.ngw; 2000 
fl;llk; kP.fhg; 2000   
njh.tp.Ngh.nr 16000   
jzpf;if fl;l 3000   
tpisah ngh.th 4000 gw;whf;Fiw 26000 
 43000  43000 
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